il al b i' WELTER
DYNAMICS PERFORMANCE

Twist Gap Fillers Instructions

Parts List:

(2) Gap filler frames

(2) Insert panels (decorative)

(2) Bottom support brackets

(2) Inner support brackets

(6) M6 x 16 button socket screws
(6) M6 x 25 button socket screws
(8) M6 metal flat washers

(3) M6 Nylock nuts

(2) 9” foam strip 1/2” x 1/8” thick
Tools needed:

8mm socket

10mm combination wrench
4mm Allen wrench

Underneath the front
bumper, remove this :
mounting bolt e AN Attach bottom
(passenger side shown) z ) & bracket with
B | B the factory bolt
as shown.

1468 NORTHGATE BLVD, SARASOTA, FL 34234
WWW.TWISTDYNAMICS.COM |SALES@TWISTDYNAMICS.COM | (941) 323-5912



S

DYNAMICS PEW@@MQNEE

Bracket sticks up
from behind the
bumper like this.

Inner and bottom
screws go through
the frame, insert
and mounting
bracket, washer

This inner bracket
mounts to these
two inside frame

screws

Long screw with
washer here.

Short screw with
washer and nut
on the back side.

Foam strip goes on
the bottom of this

1468 NORTHGATE BLVD, SARASOTA, FL 34234
WWW.TWISTDYNAMICS.COM |SALES@TWISTDYNAMICS.COM | (941) 323-5912



Y&

WELTER
DYNAMICS PERFORMANCE

For 2017-2019 kits, please see revised image below for the bottom
bracket with M6 x 16 button screw and white elongated washer!

.

\

1468 NORTHGATE BLVD, SARASOTA, FL 34234
WWW.TWISTDYNAMICS.COM |SALES@TWISTDYNAMICS.COM | (941) 323-5912



